LRAF R = SRR B x = 3 R ()

240 EE U > HAGHEARLI X — Ax+ BELE [N AT

x®—ax? —bx-10=(x* - 4x+5)(x-2) = x> -6x* +13x-10=0

3.(1)det(A) = c" [det(A) (2)det¢c1) i‘) =1# detﬁ j)+det¢g (1)‘) =0 (3)det(A") = det(A)

52 )

4ﬂj (\/_ -1 dx—/{ix —gxz+x} =%ﬂ

1

=B PR RS B P
Y 3@ 2. .3, 2. 9 54 J24_ 992
P=)°+CEMD)*+C, 2)° U= o+ = -

(D7 +CI )" +C; 1) 1) ()E(525>12c25 312t
6.AH = AO+OH——6&+O—A+O—B+& OB +0C

**OB=0C.. AH OBC - [HJ%BHDAC CH OAB - HE8= f e B 92 )

7.DACB=90°6=2\/252—(4OX30) =14 - f2(4)
50
¢ b a G
8.AX:cz b, o ﬁ:az C, __3
A &b A
a, b, a, b,
6c, —2a| |3b, 6e,
6c, -2a, [3b, 6C 12A -18 A,
Yy = ( 2 2| > 2) (_ ﬁ):(_a_@
3, -2a| (3, -2a 6 A
3, -2a, 3, -2a,
1 2 - 1 2 - 1 1 -
9.A=1 3 -2=-a+b+5, A, =|-1 3 -2=5a+5+5,A =1 -1 -2=-2b-6
1 a b 1 a b 1 1 b
12 1
A, =[1l 3 -1=2a-4
1 a 1

(DA#0,J ¢~ A8 (D=0, A, #0204 (3)A= 0,4, # 0, it

(4A=0,8, =0, =A, =0, [L2i > {55%(3)



PE 2
10 PFlHIg#rfif@q@f, S p,: B T-E TR 2 F,?1\1 EZ 2(2\/52

11.a=+22+3% =413 f(2)

1 0 2 -1 0 11
o 19 3 Jras-2 o 90 1 e

) (- - 1r (230 =0 (4) 10 (231) =8
3 (3)

13.50><% =83 [l ()

wo Lo 11 1 1 1
Vk+1 Wk k-1 T Vk+vk+1 2k Jk+Vk-1

— 2(JKk+1-+K) <%<2(\/E—\/k_—1) = 3 2(Jk+1-Kk) <Z%<ZZ(\/E—\/k_—1)

—198< 2(/n+1-1) = 2(10001-1) < Z% < 24/n = 2410000= 200

Q)

15.3%¢ =3%

16 B RYE T (D10 ()10 )9 11> [ HIGREZ ] - 552 (3)
17.(1) 2sin(60° + 74°) = 2sin134° (2) 2sin(60° + 64°) = 2sin124°

(3)2sin(60° +54°) = 2sin114° (4)2sin(60° + 44°) = 2sin104°

()

18.Iim SexX~ \/_—Ilmsecxtanx J2ma=42

X—v* X_* )(_,Z
4

XZ

19.1im @+ 5 —||m(1+—)x —lim@+ ) =e
X xmeol X

y 2

20.€3=1"1+e+£%*=0

1 1 ¢
1 1 =1+ +e’ - - -1=1l+e+£°-1-1-1=-3
e € 1

21.10g875° = 16(3log5 +log7) = 16(3x 0699+ 0.845) = 47.0736 > F| 47+1=48 5



100™ 100
22.(DRatio t tllm B =lim —— =0 > I¥m
(1)Ratio tes . n~°°(n+1)' 10@ =lm-— sy
112 | 2
(2)Ratio testlim G =lim [(n+1)!] E(2n)2'|:Iim (n+1) =lim n+1 :1 i
el @, | nee[2(n+D)]L ()2 e (2n+D)@n+2) n-=2(2n+l) 4

. . lan, . n+1! n
(3)Ratio test lim—" 1 =lim ( r)1+1 EP_ _
n-o Q n- o (n +1) nl

n :|im(ij —lim(— y=et s g

Cnee(n+l)" nee

n=; n=1

i Z:(?>n 2 3n- 1 3n )éﬁﬁr FJ% @)

2311 =4(modl7) .. 11 +1= A1°)° A1 +1=(-6)° +1= 34+ 2)* +1=16+1=0

51 &1 1 1&1.
4 -~ )Y =N S
()ZBn nz(?,n 3n 3n) Z:(3n 2 3n-1 3n) 3n1n§ ﬁ?
1

24.9: (09,81,29,61,49,41,69,21,89,01)( 9% = 9'°%*%? = 9% = 9° = 89(mod100)

25.(DOx=1"* 12 +6x1*+3x1+320 Qx=-1" (-1)*+6x(-D)*+3x(-1)+3%0
AOx=3"" P +6x37+3x3+320@Dx=-3~ " (-3)°+6%x(-3)* +3%x(-3)+320
QDOx=1£7*1°-5x1+1520 Qx=-1/*"7 (-1)°>-5x(-D)*+1520
@Ox=3"" 3P -5x3F+1520 @ x=-3* (-3)°-5%(-3)*+1520
®Ox=5"5-5x5"+1520 ®x=-5[" (-5)° -5%(-5)*+1520
@ x=15f% 71 15° -5x15° +15#0 ® x=-15/* (-15)° -5x(-15°%+15%0
QDOX=1F~F 1"+ +21° +1+120 Qx=-1" (-D* +(-D*+(-D*+(-)+1#0
B = o E @)
265~ 6 Y 8V fﬁ%\’f
{1000} N [1000} N {1000} _ [1000} B [1000} B {1000} N [1000}

5 6 8 30 24 40 120
=20C+16€+125-33-41-25+8=40C
Frr 1000 —400=600
27.C4 =6

28.HS =CP =28

29.Co+C; +C; =1+10+5=16
30.3" =81

_ oY Y -
3l.x=y+hhy=l=y+=—= y'=—— 53
y+iny y y y T+y FT 3)



3
32.y2+2|ny:x4:>2ydy+2_dy ﬂ:4x3D y _2Xy
y

= 4x%dx = =
dx 2y +2 y°+1

33.10° = 2°° 5 » Amf(10+1)(10+1)=121

34.n? —2n =+ L2+ 36 F R - [In* -2n=-1=n=1fn*-2n=3=n=3-1
Frf1+3+(-1) =3

35.50x 4.2=210 > [[ITF 5t a, ~ iyt i

(4)26x 75=195=> 210-195=15<24(T () (3)26x7=182= 210-182=28>24
[ G)

36. f(x) =

109, 4 = XD[% A, f () 0[-21|= f(x0[02] » Ff 2—0=2

2

37.Im—— = lim——==lim2=2=>

n_,oon’ n-ooo n-ooo
2n

38.jex sinxdx = sinxe* — J'ex cosxdx = sinxe* —cosxe* —jex sin xdx

"-0<2= [ <¥2=1 > EEE)

LS g « Jr 1, .
:>J'O e smxdx—E[smxe —cosxe ]O ——(e +1)

BOAEENES. - E Ry ERHES LM P‘T 3)
4057 LR oT BIIFIAE M B0 35 [l

CI°[C}* [C;* [C,° [C? [T [T, [T’ Cl2 [16[15[C;* [C,* [C,° [T} [C? [T, [T}

8! 7!
CZO mlS mlﬁ ml4 le mlOm m m mz
10!
Cy |, 2x16x15
_ 8 1 _15+2x16x15_1+2x16_ 33
COCPICY  19x17x15  19x17  19x17
10x9x%x8
2 @Rl _ a2 .
-1=M: BC =1+/6 ’ﬁ”rJ‘JAABC:EEZE(lﬂ/E)@inem:—*/§+\/§3
2 2(2[BC 2 2

Jf(x)—(x +D(ax+b) +2x - 1}{—Jx—1|4~7 —(—+b)+1 1= 5:§+b 4= a+2b=8



ot T3 Jens JEL

-1 2
ﬁ?ﬁx:Alb=g{_§ EIH:
5 > 9 1

NIwN |-

|
mlmm“\’

44, (X) AT TE 1B - A RS R T T (A) ~ (B)IE
(©)F~ HO) ]~ - @)

45T x=5=m’X, + dmx+ 4= (4m-1)* -4m* 9> 0= (L0m-1)(-2m-1) >0
-05<m< O.1£ﬂ,@ﬁ%ﬁ'ﬁ‘ Im>0..0<m<01> F{si%_?(l)

120)0326) . 7 _+5

J53/49 75 5
47@Dn=5k+3=-10~94 20{# @n=3m+1= -17 ~16+H 34{}
@n=15-2= -3~34 7 {#(kL 3[485 1 = ¥L 5462 3)

Al 20+ 347 = 47

48.(1)~ ]+ s> fE (L)

49.(1-1 )~ (3,0)~ (3,2)~ (LML FF]U38% » s (2-0)x (3-1) = 4

46.cos@ =

50.X% +y? —2x+4y =0=> (x=1)% +(y+2)?> =5 = {/6-1)2 + 1-(-2))* =5

-'-2%%Q£:%ED@:E:4




